| Efficiency vs Dxy |

>.0.05F
% C :
© r :
B.045 bbb e
80.04F b b Rt R S SR
Q C E
@,0BBF e s S
© F :
V0] S SN SO S e JTEEN NI S S
0,025 +frrerfves e = %""1 -----------------------------
O . % ------------------------------------
L] e e SRR RS RS M
O S SRCoes Tt SUSES NSRS SUES S toe
0] S OOR ERRE MUUES NS SOES SESS S
.9 J-.l.Qfllll:l|||:|||I:IIII:I|||:|||I:IIII:IIII:IIII:IIII
"C-G‘ L
[
1_— ------------------------------------------------------------------------

0.95

)

0-15-10 =505 10 15 20 25
TP dxy (cm)

—=— DQM_TT__mkFit_ORIG

| Efficiency

vs Dz | —e— DQM_TT__mkFit_MODIF

N 0.2
o]

€0.18
>

.5016

o

£ 0.14f
Q

0.12f
0.1

0.08

0.06}
0.04}
0.02F

....................

.....................

1
1.1
1
0.9

Ratio

0.8

2030
TP dz (cm)

—+— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__MODIFok



	Contents
	Page 1


